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Information & Communication Technology 1

Instructions:
# Answer all questions.

# In each of the questions 1 to 40, pick one of the alternatives (1), (2), (3), (4) which is
correct or most appropriate.

#* Mark a cross (X) on the number corresponding to your choice in the answer sheet provided.

# Further instructions are given on the back of the answer sheet. Follow them carefully.

1. An association is willing to donate computer equipment to a school. If the school is planning to
build its library management system, which of the following hardware are suitable for the school
to request from the association?

(1) Desktop computer, barcode reader
(2) Desktop computer, plotter

(3) Laptop computer, joystick

(4) Laptop computer, light pen

2. Which of the following lists only output devices?
(1) Barcode reader, magnetic ink character reader, scanner
(2) Joystick, microphone, webcam
(3) Keyboard, light pen, mouse
(4) Plotter, projector, speaker

3. The device similar to the one shown is usually used by Architects
who design buildings. What is it?
(1) Dotmatrix printer
(2) Inkjet printer
(3) Multimedia projector
(4) Plotter

4. Which of the following lists the correct order of instruction flow when the user executes
a computer program? :
(1) Hard disk — cache memory — main memory —> registers
(2) Hard disk — main memory — cache memory —> registers
(3) Main memory — hard disk — registers —> cache memory
(4) Registers — hard disk — cache memory — main memory

- 7
[see page two
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| 6. Which of the following is the largest?

5. The followmg dlagram shows a computer network connected to the Internet:

Which of the followmg gives a correct listmg of the

devices A-D? ; .
(1) A - firewall, B - SWltCh C- prmtc1 D — router
' (2) A — firewall, B — printer, C — router, D — switch -

@ Ca3F58% ' (L5c”3+{ b ] (3) A-router, B —firewall, C — switch, D — printer

- (4) A —router, B - switch, C ~ printer, D — firewall

(1) 1000 0100, ~ (2) 15, (3) 85, @) C2,

7. Which of the following is the decimal equivalent of binary 1000 0101,

(1) 85, (2) 133 % (3 161, 4) 266,

10

8. Which of the following is the hexadecimal equivalent of octal 1156,7
(1) 26E (2) 484, (3) 109C,, (4) 2204

9. Amara wants to copy the following four files (with the given file sizes) to a USB drive:
“invitation.doc (15kB), .yesterday.mp3 (26MB), concert.mp4 (150MB), tajmahal.jpg- (28kB)
From the following four empty USB drives with the given capacities, which is the most economical
drive that can be used to store the above files? (Ignore the space in-the USB drive that is required
for file management.) : o u mr
(1) 1GB (2) 2GB (3) 128MB . (4) 256MB

:|10. Consider the character — value mappings from the ASCII table given below: -
- 0-79 /- 47 L-76 o - 111 1 - 108
Which of the following will be the ASCII representation of O/L in binary?
(1) 1001111 1001100 (2) 1101111 1101100
(3) 1001111 0101111 1001100 ' (4) 1101111 0101111 1101100

|11, Consider the following logic gate:

A When ‘A=1, what would definitely be the output at 07

o Q o omo @1
@ B @ B -

12. What is the shortcut key oombination to undo your last action or ‘actions, in a word processing
application? ' e B .
(1) Ctrl+H "~ (2) Cul+N (3) Cul+Y (4 Cul+Z o

13. Which pair of icons can be used to convert a selected text into two diffeif_eﬁt_typps_of lists?

W = * @|E~E-| o|fF @ |==

14. Which of the following are true regarding a word processing software?
A - Any two cells in a table of a document can be merged.
B - A word in a document can be selected by double clicking the mouse on that word
C - An already saved document can be saved using a different name by usmg the
“File — Save as” option.

(1) Aand Bonly (2) Aand C only (3) B and Conly (4 Al A, B and C.

15. What is the shortcut key combination to select the entire document in a word processing software?
(1) Ctrl+A (2) Cul+C (3) Cul+N 4y Cul+X

\ J

[see page three
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| ® Consider the followi g spreadsheet segment to answer que‘stibﬁs ‘16 and 17. -

(3) II and III only - (4) I and IV only

ar¢ ‘taken from a database of an electricity billing system.

|16. What will be displayed in cell D1, if thenfbnﬁpia':COUNT(A'i':Cié B2) is entered
M3 @ 4 @7 @we
17 What will be displayéd in cell D3, if the formula :-‘-AI"CB?‘(CI—BI) is entered fo¢it? .:
1.6 @9 (3) 10 @ '
'|18. Which of the followi:_ng (I, I, III, 1V) are valid cell__addressé_é? '
o I-K2 T-$K$2 M -K2$ IV - K$2§
(1) I'and I only

(Q) I and IV.onl'y < R, B ey

ST e gn

® Consider the following partially shown database tables fo ‘answer questions 19 {0 22, The tables

it Usagge .

027088

Customer ~ Meter s
' el R N s e
Cus_ID Name Address Meter_ID| Cus_ID Meter_ID Date e
_ Reading |
C001 Anil Rajagiriya . 001 C003 . 001, |28/02/2023.[ 1000 |-
C002 Shane . | Borella - 002 C004 . 002 | 28/02/2023 1000 |-
-C003 Raj | Nugegoda 003 | CO01' |. 1. 003 - |28/02/2023 | -1500
C0o04 Sharaf | Dehiwala 004 |- CO04 || 004 - |28/02/2023 | 2500
Coo - : - 005 C002 001 | 31/03/2023.| 4000
{19. What is the primary key of the  Usage table? o ot ] :
(1) Date (2) Meter_ID
(3) Meter_ID + Date (4) Meter_Reading
120. What is the most suitable data type for Cus ID field?
" (1) Boolean (2) Currency (3) Number (4) Text

{21. The monthly electricity bills are generated using the meter readings to compute the units used.
Which tables are to be used to generate the monthly electricity bill of Anil? - ‘ o
(1) Usage only (2) Customer and Meter only

(3) Customer and USége é'nly' (4) Customer, Meter and Usagg .

22. Which table/tables needs/need to be updated when entering next month’s meter ‘readjngs?
(Assume that new customers/meters are not added during a month.) '
(1) Customer only . .(2) Meter only e T
(3) Usage only (4) Meter and Usage only:

123. A student is develdping the school website. One of the requirements of the school is that the
pages of the website to open quickly. Which of the following file types’ should thé student use
for the graphics. of the site to suit the above requirement? ' o

(1) JPEG (2) MP3 . (3) RAW (4 WAV

24. A raster image of resolution 2400 x 3000 uses 24 bits to keep the- information of each pixel.
What is the maximum number of colours that the image can use?-
(1) 24 (2) 24x2400%3000 (3) 2% {4) gmenm -

Isee page foér
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'125. What would be the output of the flowchart if 3 is given as the

OL/2022(2023)/80/E-1, 1T -4-

® Answer the questions: 25 to 27 using the given flowchart:

input?
M 1 @3
3 6 4 24

26. Which of the following constructs -are best suited to be included
~in a computer program based on this flowchart?
A - if then
B - if then else .
C - while-endwhile
(1) A only (2) B only
(3) C only (4) B and C only

27. In this algorithm, N always has to be a positive integer. Which
of the following is recommended for the flowchart to fulfill the
above condition?

(1) Keepmg the flowchart as it is
(2) Changing the N=1? condition to N= 0?
(3) Changing the N= 1? condition to N=-1?
(4) Checking the value of N immediately after it is input and
stopping the flow if N is.negative

28. The array named A 'holds'-the average price of an egg for each month of last yéar:
© A [ 20 [ 25 [ 50 [ 55|70 [ 65 | 50 [ 60 | 65 | 50 [55 [ 49 |
Which array element contains the highest average price? ' "

(1) A[0] (2) - Al4] (3) A[10] 4 Afll]
29. What will be the output if the following Pascal code is executed?
Program testPrint(input, output); (I 1
Var count: integer; _ : (2) 4
Begin (3) 123
For count:=1 to 4 do ; @) 1234

Write(count);
End.

30. The following pseudocode is to find the sum of the numbers from 1 to 10.

Begin Lo B e _ N ,
sum = 1 ' ~ What is the suitable replacement for label A?
number: ="1 : '
repeat (1) number = number + 1
A (2) number + 1
sum = sum + number (3) number = 0
until number < 10 B I (4) sum = 2
display sum: 5 3
End
. 31. Consider the following pseudocode: _
Begin . How many times will * be printed according to it?
P =20 Y B
while P<6 (1 1
display ‘*7 - : {2) 2
P=P+ 3 i 3) 3
endwhile
End @ 4

[see page ﬁvéj
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: 32. _Consider the followmg pseudocode fragment

' 33. Consider the following statements. -

' |34. Which of: the following lists the selected actwmcs of the System Deveiopmenr L;fe Cycle in the

135, Asswne a wmplex software system consisting of many units is being developed. Whrch of the

137. Which of the followmg does the translation of domain names to IP addresses?

139, Raja wants to. send a job applrcatlon enrall with his resume as an attachment to abcCompany @gmail .com.

{40. Which of the following HTML statements has incorrect syntax?

0U2022(2023)f80fE-l I _ _ 5.

s weakness < 40

' if character > 70 o
.- suitability = “Good”.

endif R TS

endif

Which of the followmg is true? _ _

(1) If weakness < -40 then su:.tab:.l;.ty = “Good"
(2) If character > 70 then. suitability = “Good”
(3) If weakness <- 40 ‘and character > 70 then sultablllty = “Good”
(4) It weakness < 40 or chazacter > ?0 then sultablla.ty'- “#Good”

A - A machine languageé code consists of Os and Is. B ey -
B-A Pascal program is easier, to understand than its machme language equrvalent._,
C - A Pascal code needs to be oompﬂed to convert mto its equrvalent machme language code

() Aonly " (2) A and B Sk, (3) Aand C omy' ' (-'4)"A11 A B and.C

-correct order? -

(1) Coding — Solution design —> Reqmrement 1dent1ﬁcanon —> Testmg — DepIOyment
(2) Requirement identification —> Solution design —> Coding — Testing — Deployment .
(3) Solution design —> Coding —> Requirement identification —> Deployment —> Testing
(4) Solution design — Requirement identification —> Coding — Deployment —> Testing

~

following lists the types of testing involved in this development in their cerrect ‘order? ;
(1) Acceptance testing by the users —¥ system testing —> unit testmg —> 1ntegrat10n testing
(2) Integrataon testing > acceptance testing by the users —> system testmg —> unit testing
(3) Unit testing —> integration testing —> acceptance testing by the usefs — system testing
(4) Unit testing — integration testing —> system testing —> acceptance testing by the users

36. Which of the following is a correct example for an IP address?
(1) 2556480 - (2) 170.63.80.23 (3) 170.248.16.31.56 (4) 192.248.16.300

(1) DNS server. (2) Mall server (3) Media server (4) Web server

38. Which of the following is not essentlal for. an, ofﬁcer in Sn Lanka to ]om a_ video conference
involving officers in USA and Japan? ;
(1) A computer or an eqmvalent dev1ce with a camera rmcrophone and a speaker
(2) -An internet connection- : ‘ ) )
(3) Relevant video confercncmg software A B i Bt TGREGRT R Wt B
(4) USB drive '

Which of the following optmns in the, email - appllcatxon should Raja use to:attach the resume?

(1) <a href="http://www railway.govlk">Sri Lanka Railways </a>

(2) <h2><center><font face="Arial" ‘color="blue" >WORK<!font><f’center><;‘h2>
. (3) <img http:/iwww.w3schools.com/images/picture. jpg border = "B o,
(4) <p ahgn—"nght"> Sri Lanka <fp> : ;

% % . - |see page six
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Information & Communication Technology I, II

Information & Communication Technology II

% Answer five (05) questions only, including the first question and four others.
% First question carries 20 marks and each of the other questions carries 10 marks.

1. (i) To minimize the inconvenience to patients, the Out Patients Department (OPD) of a hospital
decides to implement a computerized appointment scheduling system. The OPD is open for
patients everyday from 8am to 5pm with a 12-1pm lunch break. The OPD plans to divide each
hour into four 15-minute time periods, and to allocate three patients for each such time period.
JIn the proposed computer system, five pieces of information are stored with respect to each
appointment that is made. The patient’s NIC number, name and phone number are three of
them. Write down the other two picces of information. :

(ii) Four ports on & laptop labelled ® — ® are
“shown in the figure.

(a) Write down the label of the port which can bé used to connect a projector with a VGA
cable. . '

(b) Write down the label of the port which can ‘be used to connect a USB flash drive in
order to take a backup of the important files in the laptop. :

(iii) Convert 63,, to its (a) octal and (b) hexadecimal equivalents.

(iv) In the circuit shown, A represents a 2-input 3 _|

logic gate. -
= c

Y.—.

(2) From the two gates AND and OR, what
should the gate A be so that § is according
to the shown' truth table?

(b) Write down the Boolean expression for C.

R

i-O'—‘DK'.
=

(v) Raja poweré on a computer and types a document using a word processor application. Then he
" shuts down his computer through thé operating system. :
What runs on the processor, of this computer during this scenario is shown in the following figure.

- = . C
Computer ___yf § L—sl 1| |-aWPF—OS | lll [ IV > ST

. Note: OS — Operating syétem-, WP — Word Processor " . :
Write down the suitable replacements for 1, II, TIf and IV choosing from the following list:
List : {BIOS, OS, 08, WP} : : i

—
[see page seven
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,(vi) .Some formatting options available in a word processing software are shown below:'

Option "kz » - g ‘f';?‘ | &2
Label P Q R | S | T U v

Write down the labels of the options that have been used to do the following sentence formatting.
Sentence before formatting : Work is a great remedy for all ailments.

Sentence after formatting : WoOrk 1s I re jor.

(vii) (a) A slide containing a fifle, some text bullets and an
image has to be included in a presentation. From
the slide layouts  shown at right, write down the |~ i|7 =1 N :i " _%l
label of the correct slide layout that the user can | L====l] | | 3 :
use for the above purpose.

(b) There are accepted characteristics in a good electronic presentation, Write down one such
characteristic with respect to the maximum number of text lines that should be placed on
a slide. ,

(viii) Assume ‘that a player can receive a score between 1

and 10 for a game. et

The scores a particular player has received in 10 games :

are stored in an array S as follows: Count= P
i=0

S: .
[10]s[3[4[7]5]9 2 ]1]7]
It is required to find how many times the player scored
5 or higher.

The flowchart drawn for that purpose is shown. Write
down the correct replacements for labels P and Q.

(ix) For the success of a software system developed using the waterfall model, it is 1mponant to get
all client requirements clearly and exactly before leaving the first step of the model. Why?

(x) Draw the expected, output of the followmg HTML code segment:

<d1> : : | © T B Tow 2
<dt>HTML</dt> p
<dd>is a markup . 1anguage€/dd> ;
<dt>Java</dt>
<dd>is a progrqmm:..ng 1anguage<:/dd>
<dt>SQL</dt> - i
<dd>is a query language</dd>
</dl>

W,
[see page eight
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2. The following spreadsheet shows some statistics related to the amount of energy generated from
“solar- power for the period 2010~2021 in 12 selected counfries:

Selar electricity in years 2010-2021 (TWh) | 1.
N _ ; B : incfease I.ncrease
Country |2010 |2011 |2012 | 2013|2014 | 2015 | 2016|2017 | 2018 | 2019|2020 | 2021 | im 12 | 192920
o A - 21 Y 20
| Australia | 0.39 | 1.39 [ 233 | 348 | 401 | 5.02 | 6.21| 8.07 | 9.93 | 14.9 |23.85|28.04] 27.65 | 4.19
| Bangatadesh | 0,07 | 0.06 | 0.09 [ 0.13 | 0.16 | 0.2 | 0.22]0.25 | 0.28 | 033 | 0.39| 047 | 04 -| 0.08
“China |-0.7 | 261 | 3.59 | 8.37 |23.51|39.48| 66.5 | 118 | 177 | 224 |261.1| 327 | 3263.| 659
Finland | 0 | 0.01 | 0.01 | 0.01| 0.01 | 0.0 | 0.02]0.050.09 | 0:15| 022 | 03 | 03.| 008
Greece | 0.16 | 0.61 | 1.69 | 3.65 | 3.79 | 3.9 | 3.03 (399|379 [443 | 445 | 535 |- 509 | 08
India | 0.11| 0.83 | 21 | 343 | 491 | 657 | 11.6 | 21.5 | 36.3 | 463 |58.68|6831| 682 | 9.63
Malaysia | 0 | 0| 001|014 |023 | 027|031 ]033|063|094] 117 15| 15 | 033
Pakistan' | 0.01 | 0.03 | 0.07 | 0.14 | 0.24 | 038 | 0.68 | 0.92 | 0.92|0.93 | 1.03 [ 1.26| 125 | 023
Singaporc| 0 | 0.01 | 0.01 | 0.02 | 0.04 [ 0.07 | 0.15| 0.17 | 0.24 | 0.41| 0.5 | 0.67 | 067 | 0.17
| SriLanka | 0.02]0.02|0.02 | 0.02] 0.05 | 0.03 | 0.05 | 0.11 | 0.23| 0.36 | 044 | 0.54| 052 | 0.1

United | 0.04 | 0.24 | 1.35 | 2.01 | 405 | 7.53 | 104 [ 11.5| 12.7| 129 {13.32}12.47| 1243 -0.85

Vietnam | 0.01 | 0.01 | 0.01 | 0.01 | 0.01 [ 0.01 | 0.01 | 0.01 | 0.1 | 5.25|10.86|25.77| 25.76 | 1491
Lowest - ' ] s
increase .
Highest '- ' _ : 65.9
| increase ]

Source: hitps://ourworldindata.org/renewable-energy

(i) The column N is used to show the solar power generation increase in 12 years. This is calculated
by deducting the 2010 value from the 2021 value.
‘Write down a suitable formula for cell N3 to get the 12 year increase for Australia.

(iij Assume the formula written in cell N3 is copied to the cell range N4:N14 to get the increased
values of other countries. Wnte down the formula which shows the increased value for Sri Lanka
(cell N12). ' :

(iti) Column O is used to disp}lay‘ the increase in power generation_ in 2021 relative to 2020.
(a) What is the formula to be written in cell O15 to display the lowest increase value?
(b). What is. the formula to be written in cell 016 to display the highest inc_reasé value?
" Note: These formulae must be writfen in the =function(celll :cell2) form.
(iv) Assume that in cell P3 (not shown) the formula =('O3IO'16)* 100 is entered to dispfay the ratio
between Australia’s increase and the highest increase. However, this formula is not suitable to|

be copied to the cell range P4:P14 to display the ratios for the other countries. Write down
the correct formula that needs to be entered to cell P3 to fulfil the above purpose.

(v) From line and pie charts, what is most suitable to compare the changes of solar power
- generation of these countries over the period 2010-20217 Briefly justify your answer.

\_ . : . ) . . L /
g [see page nine
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borrowed items as shown below.

3. A school lends sports equipment to its students.. To manage this process, a three. table relational
database is used. The tables keep student information, sports items available for borrowing, and

-~

Student Item
~ StudentID StudentName Grade TtemID JtemType
s001 Saman . 7 " 001 | Badminton racket
5002 Kamalan 8 002 Volleyball
S003 ‘Shane 8 003, . - Cricket bat
S004 Ahmed 9 004 - Basketball
005 . Cricket bat
Borrowed_Items . ‘ o
TtemlD StadentID BorrowedDateTime RetumedDatéTihie '
002 5002 10/02/2023 14:00:05 | 15/02/2023 14:15:00 .|
004 - S001 13/02/2023 14:08:00 | 01/03/2023 14:16:00 .
004 S002 05/04/2023 14:15:00 | NULL
001 S004 05/04/2023 14:20:00 NULL
002 S002 06/04/2023 14:00:06 - NULL

(i) (a) Write down the primary key of the Borrowed_Items table.
(b) Write down the foreign key(s) of the Borrowed_Items table.

(ii) Which tables need to be updated to accommodate the following?

(a) the school deciding to allow.students to borrow Tennis rackets . .
" (b) Shane borrovmng a Tenms racket on 20/04/2023

above scenario.

Note: Use the tablename —> (field1, ﬁeidz

(iv) It is required to find the names of students who borrowed spolts items on 05/04/2023. The
type of item borrowed must also be shown. Which tables are to be Jomed for this purpose?

(iii) A new student Raj (StudentID: S150) joined the school for grade 10 and was selected for
: the Cricket team on 25/04/2023. He borrowed a Cricket bat (ItemID:005) on the same day
at 14:00:05 hrs. Write down the new record(s) to be added to the relevant table(s) for the

) format for each new record

LB

o

[see page ten
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4 A student can g0 to school either by blcycle school van or bus It ‘can -be chosen based on the
" total distance as follows: - - : : s

® When the total distance is less than or equal to 5 km:

Use the bicycle
'~ ® When the total distance is more than 5 km  but less than or equal to 15 km:.
' * If the distance from home to nearest bus stop is less than 1'km, use the bus Otherwise

use the school van. ; :

e When the total distance is greater than 15 km; :

' If the monthly van fare is less than two times the monthly bus fa:e use the school

- van. Otherwise use the bus. :

(i) Write down the most suitable transportation modes (bus, van or blcyc]e) for Sithara, Ganesh
Saleem and Nimal based on the information given below.,

Student - Total | Distance to _Monthly Moiiﬂily'

| 'Distance (km) | bus stop (km) | van fare (Rs) | bus fare (Rs).
Sithara -1 | o5 13000 2000
Ganesh - 32200, 3 8500 4000
Saleem - 14 15 6000 3000
Nimal 3 1 05 2000 1200

(i) Write a pséudocodé to input the required data for a student (total distance [TD], distance to
bus stop [D], monthly van fare [VF} and monthiy bus fare [BF]) and to output the suitable
transport mode for him/her.

5. (i) Match the descnpﬂons labelled P — S with the correct terms from the list given and wnte the

relevant term against each label in the label — term format.

Label 7 Description

P | Used for the communication between web server and web client
- Q | Used to uniquely identify a web page in a web server
'R | Used to identify a computer uniquely on the Internet

S Used to transfer emails between two emall servers

LlSt {DNS email address, PTP HTI‘P hyperlmk IP address SMTP, URL}

(ii) Choosing from the- examples glven in the ltst wmte down the . oorrect example sultable for
each of the labelled items A to G given below in the label — example fomlat
A — A content management system
B — A top level domain name
C - A web browser
D — A search engine
E — A social network
F — A cloud computing service
G — A programming language used for web page development

List : {1k, Firefox, Google, IaaS, Pascal, PHP, Twitter, Wordpress, www.nie.Ik}

[see péz’ge eleven
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missing tags labelled @ to @. -
Water

The water sources in Sri Lanka are mainly fed by rainfall. The main water
resources in Sri Lanka include rivers, streams, tanks, reservoirs and ground
water. '

Uses of water

» For drinking and household consumption
« For generation of hydro-electricity
« For agriculfure and industries

Problems in water utilizaiion and some solution

methods
Problem I Solution
Waste of water |Use water sparingly and minimize wastage ||
' [Implement water managementplans |
Pollution of water
wate in th
Distribution of water during !I?rﬂgﬁg?t i S
droughts '

{{Use of rainwater tanks and recycling
i{Drving of ground water sources _{[Construct large reservoirs and grow trees

Source: Grade Eleven Agriculture Book
Figure1: Web page

n in below Figure 1 is given in Figure 2 with certain

<html> .

<@)> <title>Water</title> </

<body>

<center><@>Water</@></center> _ _
The water sources in Sri Lanka are mainly fed by rainfall. The main water resources in Sri

- Lanka include rivers, streams, tanks, reservoirs and ground water.</@> B T

<@>Uses of water</@>

6> .

. <@®>For drinking and household consumption</@>
<@>For generation of hydro-electricity</@®>
<@>For agriculture and industries</@>

<@>Problems in water utilizdtion and some solution methods</@¥>

<@ border="4" align="center"> o G

M>Pr0blem<f@><@>$olution<f@>'</ : : : :

O>Waste of water</D><®>Use water sparingly and minimize wastage</{D></@>
<@><® @="2">Pollution of water</D><M>Implement water management plans</AD></@>
< Implement information dissemination programs</AD></@> o
@="2">Distribution of water during droughts</f><@>Protect water sources in the catch-

ment areas </{D></@> e - B

| <®><®> Use of rainwater tanks and recycling</{D></@> .

<®@><@>Drying of ground water sources</D><@>Construct large reservoirs and  grow
trees</D></@>

<@> : : :
Source: g(D href="http://www.edupub.govlk" > Grade Eleven Agriculture Book </{B>
<Ibody : g )

</html> - :

Figure2: HTML Source

Select the correct tags for the labels @ to @ of Figure 2 from the list given below. Write

down each label number and the corresponding HTML tag.
List : {a, colspan, dI, hl, b2, head, li, link, p, rowspan, table, td, th, tr, ul}

~

v
[see page twelve
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6. (i) Compared to raster files, vector files are more suitable to store images like institution logos that
frequently need resizing. Explain the reason for it.

(ii) Assume that you recorded an original song and stored it as an audio file. The file consists of
two silent portions, one before the actual song begins and the other after the song ended. You
want to remove those two silent portions using Audacity.

A part of the Audaciry interface is shown below.
A B & D

®an

(a) Explain how you would use the interface options selecting from those labeled A-F to
remove the two silent portions describe above.

(b) Write down the label of the interface option that you will use to play your modified file.
(iii) Assume that you are creating a video with Windows Movie-maker.

(a) What is the importance of the rimeline stage in the interface?
(b) List three features that you could add to your video through the software.

7. (i) Match the following descriptions labelled A — D with the correct terms from the list and write
down the relevant term number against each label in the label — term number format.

Label Description
A Patients in remote locations connecting to hospital specialist units through the
use of ICT
B An application that helps teachers / students in teaching / learning

C Creating detailed images of internal parts of the body

Buying and selling of goods and services via the Internet and the transfer of
funds and data to complete the sales

D

List : {1 — Cardiac screening, 2 — Electronic banking, 3 — Electronic commerce, 4 — Learning
Management System (LMS), 5 — Magnetic Resonance Imaging (MRI), 6 — Medical
teletraining, 7 — School Management System, 8 — Telemedicine}

(ii) Sunil’s computer which operated at high speed initially has become very slow lately. One of
Sunil’s friends asks him to discard it and buy a new one.

Do you agree with Sunil’s friend? Explain.
(iii) Write down one method to avoid plagiarism when reproducing information from the Internet,

(iv) “Technology should be one's servant and not the master”” What is meant by ‘becoming the
master’ and ‘becoming the servant’ in this statement?

0001878



920 oqabnodsind CwBond
b

s pover Lo ANTRESULTS. LK

Anrimsl ufimad Havendsed
G EC0.LE, (.06 UIOW ~ LULZ (LUld)
&.Qur.s. (srgryem S50 ufiens - 2022 (2023)

Bec goma ;
ure @eosmb | 80 v | Information and Communicationi‘echno!ogy
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Qo v i e Qo oD oty £otnd
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4 Paper II mark scheme

o
&1.4.
1. BE€ndm cn| uqw u&r1wds ¢Dand v ud= 98 qig gm. N
2. aelead pseion Bodns e 98 (/) B8 2 s
3. «-- A 987 ¢foxverd, ape 285000 e 8o miFes, A S0 08 »H® v &K F0B.
4. 19 gdus Sovme egde exnucmm BERG & n3 gm. ye gfud S a¢deos oxn cod® ec:
Om giudenl 580 ewd RO ewd A gOE: ewd D168 O 8DLGE.
5. o¢bm ydm vped cx e ;988 (rounding off), gduz cRFOC SR v BE gre.

1. (i) Write down two other pieces of information that should be stored fora patient’s 2]
: appointment.
OO ca 1 B - X2 = 2
1)
@010 / e udesw / mace / medediw
B 2 anb ew "8'@-:2& 27>
ivm.c sz&~"~ ;3} Sos o.joges
0Qes M
(ii) (a) [Write down the label of the port to connect a projector with a VGA cable | [1]
A
(b) [ Write down the label of the port to connect a USB flash drive. | [1]
D
* ecdaced galud ed¢w (capital/simple) eznwcmsim.
(iii) (a) [Convert 63y to its octal equivalent. | [1]

8l . %
o - 7 J
77
80 - @00, 1 calRebin DiEudis - e d0® vdode / q.00.0.(2.00) Bmnw - 2022(2023) / avoalon ;ined e gad qo 18
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(b) [ Convert 63)¢ to its hexadecimal equivalent. | i1
16| 63
T —- - et
.LUI - - L mmmm=> T
0- 3 «==>3
3F ESsee &mD c7\7'~,|,;._
* F edaced gfud edes emmecmsis. = =
* Do BO® gmmDas exeb.
* DO gd@s ezned.
(iv) (a) [Out of AND and OR gates, what is A? | (1]
OR
(b) [Write down the boolean expression for C. | " (1]
vuD ed OBsT dnas!:
cC=XY
C=XY
XY
XY
C= o2 D
(v) [ Write down the replacements for L,IL,I11 and IV choosing from the list. | [2]
om0 e 0.5 3B oS Rtpv—c-ﬁ* Aol and
I: BIOS 4% 2dmb Repect
i we € o Mo meles
IV: 0S 5 ey © &®

V CiBtned can 8 g 8@ seor wewsl 6 gl 16 00D @D Bur ;800 - e G
0
* g=tud erfew ww g god A5 exnucmEID.

——— e ——

80 - emidno) 0 wifiedin ozl - o o sdmdoe/ g.eos.(ses) Bmoo - 2022(2023) / scomit=n qes ve urd a»
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[SIOHO) e¢ednedxind
S

(vi)

Write down the labels of the formatting options that have been used for the o
sentence formatting. L ]

dmwd cne 0.5 @
P Q R S

F ¥V 09560 018 oFAE B 1B 80 - cpn 0

* q:8wd etdes encmEIs.

B88umuA BmFuwsy:

1 ﬁaadgﬂ 28=» 28

2 gmGiOc y@r esw(font size) ;8 B8 (Bume BEO), ooy ©zI8® (bold), &rc B8
(italic), ©927 96 4:2® (underline) g2 oces DOmews! 8OO

Write down the label of the slide layout that can be used to contain title, ' [1]

(vii) (a) some text bullets and an image.

C

* Cedaced gufed ew¢w emucomsis.

(b) Write down one good characteristic w.r.t.the maximum number of text lines [1]
that should be placed on a slide.
DeOm mBa gn o8O 0 e8€ vemm 5-9 ¢nd du gnw. v -9 Q—ZJ
o E5-S8
BEwrw B Bmdvws: Bt C\"-‘y]
s,6,7, ‘a;j_

5/6/7/8/9 ewnd gum véwe BE ON® co vohews

NoTE: In the text book, the maximum number of text lines on a slide is recommended
to be within the range 6-9. However, 5 is also accepted in some references.

(viii) [ Write down the replacements for P and Q of the fowchart. | [2]

OO cmeg 1 a8
P=0 Q=5
* P ow Q odacode grud ebiw emacmsim.

8o A Bmduws:

Oand5/0ew 5 "
0,5
0,8 P

80 - emadnc: m erlfebin mTuda - cmeg Bo® 8308 / .06 (8.08) Do - 2022(2023) / w-ealdn ned D€ 420 B

20
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(ix) Why is it important to get clear/exact customer requireraents befure leaving the 2]
first step of the waterfall model?

8w 8 pmaBlody, Sco Bubd 4160w HB00 eud duf Buboxt uOuba mc yned. edecw
viRfed wdbdn mOYn go®w HBLD vud DM Ve VA wOEse e Yaed.
dotd emnfDevis), emban vddBunt w.bEdmw Be® qDem® wy vud du ebmne HBOD

48w el 80 Bgbxm v,

vun edn D85 8@ dund cnea 2%

¢+ o @8 qrmBedd, Sco Bubd 460 ABOD eud ol Budsd wdybe ¢ 4o /
e pmiBed? w088y vddfn g0wn gRuebE v vBxle BEOO WBHwd

LT 510)]
+ D168 4Dasmn BY0 HETH® vddBe edn BBO g 8¢ ¢dm DO

(x) [ Draw the expected output of the given HIML code fragment. | (2]
—HTML Coua 2% @?‘9 c
682 is a markup language oyhowpr DO
65 £ZWoe —=Java 5 G -
@csh{v; ) is a programming language - X Q”?,GDF/
—2.SQL \ by Y
TAVA coptte] is a query language
&mnfo plo wenlcs
v gyBst cmE egrin.
A: v goc e¢m -caaE 1
B: 60 gocs - @ 1 («-- A)
v gmedsme (indentation) goaxden @O.
% “HTML", “Java" s "~"SQL" w4, @88 D 810 alud e¢de emucH s,
e e
www.e-kalvi.com
21
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2. (i) [Write down a formula for N3 to display the 12-year increase for Australia. | 2]

= M3 - B3

Y anis B8z wednis Ha ano.
* guled odews exnwemsis.

% +M3-B3 ¢ B88un uim.

% = SUM(M3, -B3) ¢ BEon vy».

eoeh aom kB U 6y @99 ©

(ii) [Write down tho formula that will be in cell N12. | 2]

= M12 - B12

vV oxde 88x wieduie Do grne.

* gfec odiw emnncHsI.
* gun (i) o Guswed BExS =SUM(M3, -B3) »® =SUM(M12, -B12) ¢ BEon wim.

CB B BBe. T80T e

(iii) (a) [ Write down the formula required in cell O15 to display the lowest increase value. | [1]

=MIN(03:014)

(b) [ Write down the formula required in cell O16 to display the highest increase value. | [1]

=MAX(03:014)

¥ omiu 88» medsle Bo yno.
* g¢afed orfw exnucHsiD.

® § Buoh, &y
I R b phor, adra A

www.e-kalvi.com

22

B0 - eoudnd m sutfen s mElu e - NG j0@ bdmda / g.euts.(s5.00) Braow - 2022(2023) / orealdn qRey e g2 aio



B® @4dned®sind cnBomd

—

(iv) | Write down the correct formula that needs to be entered in cell 3 for correct copying. 12

= (03/0516)*100
ewnd

=(03/50816)*100

* guled edew eznecmsIn.

) From line and pie charts, which is more suitable to compare the changes 2]
of solar power generation of those countries during 2010-20217 Justify answer.

@8 yed3dad / line

NGB DO G HEHe® ABsem 608 me 89:018 ne 0Ond 88 wewsim® £500
e368) @890 yefHs8, BBEDw® 0m0 tusmeme BEOD e DO yPSHsB.

vun 2ubxst cna e,

A: 28D yedd - ey |
B: o &mdemn (vun 087 omnt)- cueg |

o DedDe® Bfvan 88 mc 8210 ne -
— oDme B8O womxuieze HBOD ey @83 yddas8./ (o 00c BBvwns e-esigw
BBOD gep @8 yudd B,

+ CE B0 EDHEOD (I usHoHeeD iy 08 yud68.
¢ 2@tnun @0 weniimnn B8RO gy DO yucds.
» D0 y$is BHvwt® 7800 BgBe

L0

o008 633800 vy BBvwxsl ap (600G 12 = gm Bud 1247 ). OBz alinh ydtad
mBnewst 600E 12 0 o Du6 12 8 @ goemd® 9md yddded od€ 12 o yibame
B vBe. H8s, 600 12 0 g¢¢ 906 12 8 Bug® gowrsy yebeme BB Of »B 6O
ye¥Sidwed 8w evnvm.

098 gdme 98z "2010-2021 mce ne 0O OO pbw AceIB cueme’ 0
B80em 9D wems’m. enedd cdnd, d¢ & Beddn 60d v gum C4 ydmaes H®
(g BdeBwd wew gfdy 12 gowst), 68D DO gefdde DEht ggey @O.

www.e-kalvi.com .
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3. (i) (a) [Write down the primary key of the Borrowed_Items table. | 2]
ItemID + StudentID + BorrowedDateTime
Y Budn gulud Smwatsws gBaved.
Y 4®@nd Sedy B &5 ® o))
* "+ 0000 and" ewd Cev" ewd BEon .
* gfec el (case) ww 98 (space) e¢fu eonucmEID.
s
2 A
(b) [ Write down the foreign key(s) of the Borrowed_Items table. | [2]
020 e 1 @@
ItemID
StudentID
V¥V Buedn gfuc 8mmww goased.
YV 2050 Sedy Ew gii»® cmeg nd.
* qfus e (case) ww @b (space) eqdu enecmBID.
) Which tables need to be updated when the school decides to [1]
(ii) (a) allow students to borrow Tennis rackets?
Item
v Bed» guiud dmxee gdased.
Y q®n0 dg G aI®H® CR &R B,
* axfed eug (case) s 98 (space) @¢fe emnucmzID.
o
Ddeon Aally - doble p@ P8O Qdh A
Which tables need to be updated when Shane borrows a Tennis racket on 1
(b) | 90/04/20237
Borrowed__Items
v Budn gried Buswe 800 @O 9d (underscore) 0@ @d..
Y 956 00 8w quofo® CRB .
* gxf8c eul (case) ww 98 (S ace) ogln @maca(;zimsﬁg.
24

80 - o606, 12 ufeban me s - CR G §e@ vds:du / q.ot0.6.(e.00) Do - 20222023}/ e-enidmn gned =g gad g2
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Raj (S150) joins school (for Grade 10) and is selected for Cricket team on 25/04/2023.
(iii) | He borrows a cricket bat (005) on the same day at 14:00:05 hrs.
Write down the new records to be added.

=m0 cg 1 3@

Student — (S150, Raj, 10)

(2]

& 5 rhwd ”’16’%

. = \
Borrowed_Items — (005, S150, 25/04/2023 14:00:05) AJULL =@ - EFeZ™ @™

¥ Buodn gufec dmmww gdaned. e
¥V 4850 Dg/edeondd 8w 15in® @ . e;c"':”)

* gudec ewdg (case) e 9f (space) e¢le esneeHzID.
* 0@eds g1m6wd edendd Bu 00 ¢ BEws mBe.

on 05/04/2023? The type of item borrowed must also be shown.

(2]

(iv) Which tables need to be joined to find the names of students who borrowed sports items

Borrowed_ Items
Item
student

VY cnG 2 vem 8ag Og gdaned. i !
* 80 afus dmmes ogde emnucesin. M ’1&215’1') ab3mo ! i
* g=8ws e (case) o ¢ (Space) G4iE GENBCHIID.

BEoormB dmGows:

8ag Do »®

80 - omsdnd; 1 axifeben muluks - CRG 2e® 03m:du [ gem.o.(m.ev) Bwaoo - 2022(2023) / sreaddn qued € 320 @2

www.e-kalvi.com
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4 o Write down the most suitable transportation modes (bus, van or bicycle) for Sithara, I
. Ganesh, Saleem and Nimal. 2]

0 cea 0.5 38=7:

FReaadda @ Aed

oostd : D

880 : v Oz /Oy
A : 288m¢

* gulec ode (case) ww ¢ gfud D eide exucHEID.

Write a pseudocode to input the required data for a student (total distance [TD],
(ii) | distance to bus stop [D], monthly van fare [VF] and monthly bus fare [BF]) (8]
and to output the suitable transport mode for him/her.

ALTERNATIVE 1:

BEGIN
INPUT TD, D, VF, BF
IF TD <= 5 THEN
DISPLAY "bicycle"
ELSE
IF TD <= 15 THEN
IF D < 1 THEN
DISPLAY "bus"
ELSE
DISPLAY "school van"
ENDIF
ELSE
IF VF < 2*BF THEN
DISPLAY "school van"
ELSE
DISPLAY "bus"
ENDIF
ENDIF
ENDIF
END

80 - emsdnd; 1 cxifebsn MG - DG §of vdedu / gem.u.(t.00) Bwos - 20222023}/ soaldn qred =€ gad o 25
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ALTERNATIVE Z:
BEGIN
INPUT TD, D, VF, BF
I TR g= E THEN
DISPLAY "bicycle"
ENDIF
IF 5 < TD <= 15 THEN
IF D < 1 THEN
DISPLAY "bus"
ELSE
DISPLAY "school van"
ENDIF
ENDIF
IF TD > 15 THEN
IF VF < 2*BF THEN
DISPLAY "school van"
ELSE
DISPLAY "bus"
ENDIF
ENDIF
END
ALTERNATIVE 3:
rf\'L -
BEGIN \ bl w/eud
Yo INPUT TD, D, VF, BF simple T ™™ =
,?/bﬁ | -8 TmPuJ-WG%
s IF TD <= 5 THEN c
"f’k DISPLAY “"bicycle" condidoy
ENDIF D / wBeshmb
0'5‘;9 OU'!‘P“"L
IF (5 < TD <= 15) and (D < 1) THEN E %;_;....
B DISPLAY "bus"
RS ENDIF E
2% BF G
H02  [F (5 < TD <= 15) and (D >= 1) THEN
2(BF) (owsbe®.  DISPLAY "school van® H - e ey
28 1: ENDIF ‘vi;-im P Yo
\ & b %u\)@ <
= IF (TD > 15) and (VF < 2*BF) THEN -
DISPLAY "school van" SATE 55V
ENRIF Twdentedicn 2Qdy
>"j2y IF (TD > 15) and (VF >= 2*BF) THEN TREN 220H v 245
z DISPLAY "bus"
ENDIF
=< X END
80 - omsdad; W coiAe0 mude - CRE §e8 p3e:da / g.em.8.(m.08) Bmos - 2022(2023) / creaidn sines B¢ 520 o 27
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ALTERNATIVE 4:

BECIN
INPUT TD, D, VF, BF
IF (TD <= 5) THEN
rode = ‘Bleycie
ELSE IF (TD <= 15) THEN
IF (D < 1) THEN
Mode = "Bus"
ELSE
Mode = "School van"
- ENDIF
‘ELSE
IF (VF < 2*BF) THEN
Mode = "School van”
ELSE
Mode = "Bus”
ENDIF
ENDIF
ENDIF
DISPLAY Mode
END

so® ¢a8s? cr| ot
A: BEGIN/END - e |
B: input TD, D, VF, BF - e 1
C: If TD < 5 then display “*bicycle" - e 1
D:If5 < TD < 15 and D < I then display “"bus" - czeg 1
E:If5 < TD < 15 and D > 1 then display "'school van" - czmyeq 1
F: If TD > 15 and VF < 2*BF then display "“school van" - ez 1
G: If TD > 15 and VF > 2*BF then display ""bus" - e« 1
I: wBgbeemd: - caH | (¢-- A B0 G H063 38
« B2 emedeme (Indentation)
o ocesz ENDIF
« mzim (strings) quotes g B
« THEN 8z

* BEomwB vbww vg:

« BEGIN: Start

« INPUT: Read, Get, Take, Obtain

« DISPLAY: Output, Show

« END: Stop

Qs 8010 88 Bewe vig BE0» v,

* gafed owiw emecHzID.
* ¢3¢ gfud Bonmsies @¢de oneCHID.

—

80 - @m0 6 s wxifali meluee - e ded vdeda / q.o.o.w.en) Do - 2022(2023) / svoafdn gimes o€ ¥ub o 28
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5. (i) [ Match the descriptions jabelied P - S with the correct terms from the list. | 2]

Om=mO R4 0.5 Bt

P — HTTP

Q — URL

R — IV 88xa / IP address
S — SMTP

* guled ewlqe exnecmElD.
‘-.___________-_._.______,_._.-
Label &S

(i) Choosing from the list, write down the correct example suitable for each of the labelled (2]
items A to G.

A — 088 oyed/ WordPress
B = .Ik/Ik , sk €A

C = owlecnsdd [Firefox
D = qud /Google

E — oBos& /Twitter

F — IaaS

G — PHP

son gtedn 88 caa B8nosin.

0@ aﬁDldg 0 - e 2
wonl BN6E 0O - e 1.5

4-5= B0 5O - e |
2-3 18 BOGE 20 - e 0.5

LN s @9y M-
* glec edin emncmBID.

tabel S,

www.e-kalvi.com
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Write down label number and the corresponding HTML tag which is to be chousen (6]
from the list.

(iii)

0 Ca| 0.5 9 8z:
1 -head ~

4 -hl .~
3-p «

4 -h2

5 -ul %

6 -1 *

T -table ~

8 -tr g

9 -th

10 -td ¢

11 -rowspan ~

12 -a /

* axduc etfin emncosIm.

< > BEyvoh EaPN-

RO - @620 1 Brifedi» m=lucs - CRE {28 vd0:0a / g.00.0.(o1.00) Bmo - 2022(2023) I sveainn paed ©E ¥Rl P
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8w ecelnedsind
6 .\ | Explain the reason why vectur files are more suitable than raster files Lo store
. W) i 233 (3]
images like institution logos that frequently need resizing.

(1) @) to remove the two silent portions at the beginning and the end of song.

62308 ©:8m Bfud D8 < qi»d. ¢Q gpnd o8 ©8m Bedeess? Buie md» 89,
Blud gBmo emvnds 2685t Bawe yedaws goh Bfed. Dm0l v8m Balud
92897 6rHEB. B0 GO dmm 5HDs s Mmbnowsl 0&HEnew wdndem, waf end

O 058 om0 O Be®s HlSrwn B i>. 8% qeued Dtes! @wIsiOmwIDe o8
ez»d Bind Banc (evd i) ©¢ mB 08. e®ecw Bnd y&rmw ednd HBOO gbex

D2 Brind tew: eDmol enig D& geg @d.
v qfedn 888 cnq BE»osTs.

5_:__43@5 @:8m Bifesc 0857 0@ g1 -cG| |
B: 658 98mwxt Do mg B9, Bdwc §a O 4536 gpBmw ezt i& e - cas |
C: 00308 gBmur 0&Knde 0dmndes / @581 / O Omd Omndeds! HERrme S h Bew

e0® 02D B evned s CRBH 1

Explain how you would use the interface options selecting from those labeled A-F 2]

D w8 ®0, @ @5 @ e e5dd gwmm

son qedn 888 cna 885057, \

' Q@ G CRA A SBh ;

A: D& o gy e=de enddh OB - cna | A va’)'
B: E S8 880 - cmeg 1 (¢-- A) 2 »co &7

eSSV

v A, D uw E 06 00 8956 0FaE 8w 0@ 39, g0 Cae CAI e5»ne¢sim.
vV 8€nd es¢w D esw E 888 vd @ @450l emed.

* 2EaCOC gtwd ey emmnncHETs.

% D es» E odacde g8mm 4180 ¢ BEon uidie.

b Write down the label of the interface option that you will use to play your [1]
(b) | modified file.

B

% B edaced ¢Bmnmw 189 ¢ BEun niBa.
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Bme e¢rdned=nd

What is the importance of the timeline stage in the Windows Movie-maker
(iif) (a) interface? (1]

Windows Movie-maker ¢a@»s ez3@i6 3,200 11850 g 2. 5E@r1eew 3¢ ewipoz
cam dBewd (gam, it 68, we-msIB, Simamd ww GO wsIdad, 830 BEedego
ousidn caxles? 600 gnc, Gus c BS edImedae. 69 & vEBEHWD mc
56 @02D Wi BYEEDs! LICHB BE M.

e0mBY:
BOD D016 W ED 2O, 20E Cr % BEndxm:

B, Qaan ©zIDdw 6g® csl wndm gB3n00c @ugmd@ ouxIDg.

Nwe Ve st & 6{%:: 22D 4 575@@

FoRbh wQ EB\QQ :

(b) [ List three features that you could add to your video through the software. | (3]

vHn O e ondsd ozt v e CRR | N dT:
» @B / Gy / images
o o (Damazmn, A BEO) / lext (titles, credits)
» to20%74 / transitions
« g9 / narrations
o 28wy / O» emz / OB 8y / music / audio files / audio clips
» 2a@s S-eadun® / visual effects
. dBowd ooz / BBewd syd / video files / video clips [BEo» wiz.]

— e

i Bunme - 202!12023)1 30 umah.m mned =€ ARd ao 32
80 - amdnd m gEifebin el gke - cRG fo® odmda / g.oe2.0. (m o) B = .




BwIw e¢sdne@sinu Gw8on8

(1)

(ii)

(iii)

| Match descriptions labelied A-D with the correct terms from the list. | 2

Somd cxyes 0.5 887

A—8
B—4
C—5
D—3

* ecache gulud evie emnoemsin.

Do you agree to discard Sunil’s computer and buy a new one as the existing computer [4]
has become slow? Explain.

BEon u1B odndl 1@ B0 vBummny Dn 38 mefexl Dm q:a:dl S Bayysl gogOuOEO
¢ Oz 0D, 502 ey Bw 880G OxY¢md D HiD. SD eww: J00 BES @wds

@B,

von gEeds 088 cang BEnesis.

A onm - CRA 2

B: @x7¢00® D80 edn 1m0 - cm4s 1

C: 0®0 ouns! ewmws AC d5:0 BEwD culv gne.- ce| 1
psag W0 A e

8¢y BEnS swm 888 B Bozim.
966 ebrwd sBoamw eon 88 g8, HO® Ou iy YYD Eu/BB&s grw.”

00 B BERc®d, B 65w C vewm coa | a8sd 86 cng 2 & egsin.

Write down one method to avoid plagiarism when reproducing information (2]
from the Internet.

20 @eBudf mdm ¢ gxindone HwdEL be vw goinSoned §eige wqwzl B3O

son 80:857 @500 0 CuG 2 BEndsim.

o &89 td® / citing
. @0 10 0 / quoting
. 08D 3D@ / referencing

66 3 » to-Hwbooo D@ (29> 52\‘5“‘9
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(iv) [ What is meant by ‘becoming the master’ and ‘becoming the servant’ n this statement”? | [2]

88Bem8z muesnd NS § 80 mislume SD:8w b, mersme 8Husled 610
8gw1 ¢40 DI e BE GRW. Pasw o OO A 0NN cddmw ADD vfed.

vun galeds vii coa 88nesin.

A moateenn 308w 88 ud8 888 - e 1
B: mifu enws eddmenn 8O w88 B89 - cna 1
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